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45211229 shtwpwpwlwh wrhiwwnwbpikp nupngbph hwwp Q2 ppud . -
45211229 shiwpmpuiwl wowuwbphb nghkph hwdwnp q.z gy ' =
45211228 2hl mgmnmkmh wohnmnwbpbbp Uwihwywpinkqikph bwdwp Q2 npwl 16,231,184.0 16,2312
45221142 pighwheip shbwpwpwhwb woliwwnwhpikp Q. npuy 1,695,550.0 1 1,695.6
45221142/1 whoip shimpwpwhmwb wroiwnwbpbkp Q2 gl * 1 -
45231126/1 nonguwh snnjwbhwywpkph jwonigiub wohmnwipbbp Q2 npuil . 1 .
45231126/2 nongdwh njwhwowpkph jwonigiwh wolswwnwhpbbn 92 npwd * 1 2
45231126/3 nonguwh njwbw: L wonigdwh wrhwwnwhplibkp 9z npud x 1 8
45231126/4 nongUwh junnoulju b wonigiwh wrhwwnwhpbbp 9z npud * 1 .
45231126/5 nnnguwh oy whwowpk; wonigdwh wrhwwnwhphbp Qz npud = 1 L
45231126/6 nongiwh jungojwhwowpkph hwonigdwlh wrhuwnwbplbp Q2 gpud 2 1 %
45231144/1 Lnjougn hbw Juwwjwd wy GpGhp %] ppuwd . 1 -
45231144/2 Ynymnm b jwywd wrwnwipitp 9z gpud 5 1 -
4523114413 ynyninm hbwn juygwd wriwnwGplhp DL npuwd 2, 1 i
45231187 twjwhundwl b wubujnwyunivoh wshunwbpikp qZ npud ) 1 E
45231216 thnnnguiht juhoyph whnmypoul Q2 npwyd < 1 =
45261124 wwlhpGbph Swh wyuwwnwlpibp qr npmy 7,423,210.0 1 74232
45261124/1 \nwppGbph Jopwinpogiwi wyluwnwipibp Q2 npuy 10,773,100.0 1 10,773.1
4526112472 nwhpGuph Jbpwinpngdwi w GpGtp aQz npuyd 18,689,220.0 1 18,689.2
45261124/3 wwGhpGtph ngiwl wyiwnwiplitip Qz npud - 1 .
45231127/1 whdplwepbnh htpwgiwi ndwlwywpbph fwonigiwl wylownwipb 9z npunf = 1 d
45231129 bomgiwi hbn jwupwd wrluwnwiplp 9z npuyd 9,314,570.0 1 9,314.6
45231129/1 gbnmgiwi htn wluwinwGpGhp Q2 npund 7,488,530.0 1 7.488.5
45231129/2 shnmgdw( htwn Jwwwd wyhvunwplbp qr ypwd 3,383,410.0 1 33834
45231129/3 shiomgdwl htwn Juwdwd w Gplbp DL gy 9,878.720.0 1 9,878.7
45231129/4 ghumgﬁ\uﬁ hbw uuwd wpuwnwl Gkp 9z ppud 12,912,164.0 1 12,9122
45231129/5 gdw( hbn 0 wyuwnwlpGhp QL npud 5,014,415.0 1 5,014.4
45231129/6 tmgduwi hbwn juwdwd wol ulip@tp QL npnud 6,336,769.0 1 6,336.8
45231129/7 gtiomgiwl hbw gml._qgma wjuw Gbp G2 npuy 14,419,283.0 1 14,4193
45231129/7 b fwh bt Jwwgwd wrh Gplbp Q2 npuni 24,292,730.0 1 24,2927
45231129/8 gbnmgdw6 hbu Juuwd wok ] Q7 npud 23,613,770.0 1 23,613.8
45231129/9 otnmgiwil hbwn Juudwd wa GpGp QL gpund x 1 S
45231129/10 sbnmgiwi hiw Ywwwd wyhiwnwiplitp qz npwd % 1 B
45231129/11 ghnmguwi htwn gum;qmb wzhuunwipltp QL npud i 1 *
45231131/1 9T Iy Tunnny wipbiph hin s o wpf Gplup Gz npud 2,687,970.0 1 2,688.0
4523113172 gpwiwnw Sw( ungoywiwywpbnh hbwn juwdwd wyuwnwlipisp QL gpu 6,931,370.0 1 6,931.4
452311313 97 w6 funngnjwlwywpbph btn qm.qqma mz[uulmulﬁpﬁhp 9L gpud 11,101,310.0 1 11,101.3
45231131/4 op I I Juzwpbph hbw Guudwd wh Q2 npwd 24,299,060.0 1 24,299.1
4523113175 g Jwl wpbph htin Quwygwd wyuwnwipltp Q2 npund 1,121,470.0 1 1,1215
45231131/6 9T jun; swpbph hbwn Guwwd wol it Qz npud * 1 -
452311317 gpwd papduw | wpbiph hbw Juwgwd wet GpGl Q2 npud 5 1 h
45231131/8 9 Junnoywlwzwpbph hbw Guyuwd wwnwipitp Q2 gpud . 1 i
45231131/9 op Jwpwpdl [unnnduwluzwpbph b Yuwwd wh b eU npwd . 1 .
45231131/10 gpwd G funnoywlwywpbph bt Y ﬁ,' 9 wzh GpGkp G2 ppud . 1 2
45231131/11 il iy fwi fungoywlwywpbph htin Juuwywd wah ip 9 gpuy » 1 .
45231131/12 Fal Jw b } Jwpbph hbw Guupjwd woluwnwlplbp @z gpud . I ®
45231131/13 Fal ' Jwi bmqmlu.ll]mzmphp]z htiun l;l.uuu[uw wyuwunwipGlp G2 gpwd * 1 -
45231131/14 9 jungogwywywpbph bbn Guuplwd wol Ln QL gl * 1 '
45231131/15 ALl Jupwpdwd f Ywywptiph hbn Ywuyjwd wluwnwipGbp 9z gpwd i 1 o
45231131/16 gpwdmmmhwnmpﬁmﬁ junnojwljwzwptph bbn juwyjwo wfuwmnw Gplbp Qz qpud » 1 g
45231131/17 g i lulmmi,mumzmphllp hbwn Guwud wgl up QL gpud » 1 E
45231131/18 gRwi '] fw junnoys wpbpp htin Yuujwe wyluwnwipltp QL gpuyd 1 >
45231131/19 funnnwlwywpbiph htw juudwd waf bp L gpuy ‘ 1 ¥
4523113120 | 91 1 5w hnnaywlwwnbph hbn Gwwdwd w)luunwipGbn a2 pud . 1

45231131/21 | 9 [l fw( junnoy wpbph bbwn juwuwd wzwnwipitp G2 ppud 4 1

45231131/22 g Swh junnoywywywpkph bt Yuwdwd wal Lp %3 npund = 1 =
45231131/23 91 Ywpwpiwl uon Jwywphph hbn Guwdwd wzh b Q2 npuyd ¢ 1 :
45231131724 | g juanodwlwzwpbph hbn Guwudws \.uzhxwmmﬁpﬁh]l Q2 npuwd g 1

45231131/25__ | op I supbph hbw Guupjwd wal GpGtp 9z gpwd . 1 .
45231131/26 9 fwl funnny wpbph hbwn juwJwd wyuwnwiplitp Gz npuil ' 1 *
45231131727 n junnowluwywpbph bbw uwwd wh b 9z ppwd . 1 .
45231131/28 Swi Junpnywlwywpbph bt juwjwd wzhmlml.uﬂpﬁhp Qr gpud 5 1 he
45231131/29 Fal) ur I jwywpbph hbw uwygwd wah 1 7 gpwd * 1 o
45231131/30 9T unqoywlwywpbph hbn juwjud wal GpGk a2 gpud i 1 2
45231131/31 il Junnoy 2wpbph htin Juwqwd wah Gplbp G2 gy . 1 -
45231131/32 gpuwd funnogwywywpbph hbw juugwd wywnwipibp PrU npud ] 1 %
45231131/33 9! tunnogwlwywpbph bin fwupwd wyhiwnwlipilip QL npud 3 1 .
[45231131/34 , I funnogwlwywpbph how Guudws vl n qz qpud 5 [ 1 -

o



45231131/35__ | op S funnag pbph bl Guuggwd wol GpGibp 92 i : 1 .
45211143/1 Swpquiwé op)bwnhph Jby i yius wyf 7 9z qpwd 9,980,410.0 1 9.980.4
452111432 dwpquipul opjtnGbph Yt Sl b uwy Yyl wyh GpGhp Q2 npud L 1 N
4521114313 opjbl JbpwGnp Louy wzh Gplbp az npu L 1 .
45231216 \hanngw)hG Ywhnyph whnuapoud LH npud s 1 B
45231177 Ewlwywphbbph Jkpubnpogiul wplunwbpbbp Q2 jpud 28,825,010.0 1 28,825.0
45231177/1 Ewhbwwwphbbph {kpwhnpaguwh wpluwnwbphkp Qz ppud * 1 ’
4523117712 Ewbwguphbbph {Epwbnpoglul wypwwnwbpikp Q2 gpud * 1 .
4523117773 Kwbwywphbkph JEpwbnpngiwb wyhwnwbphbp 92 ppuwd * 1 *
Lbgupwidntnmdwhb wpluwnwipibp gkroigiuh b pkipbph wy hbyunpulub
45311129/501 |uwppujnponufibph wkpungpiwh hudwp F ' i e 1615700 1 168417
Swowympjoiibp
71351540/1 nEUpjuhwh JEpwhulngoipjul Swrwjmp)niuubp qQz gpwd 53,759.0 1 538
7135154072 wkpbhquhwh (Epwbungnipjul dwewjnippiiikp Q2 npud 186,292.0 1 186.3
7135154073 wipupjulwh JEpwhulngoippul Swow)nipymubbp 23 gpuyd 373,784.0 1 373.8
71351540/4 nkuupguhuh (Epwhunqnipywh Swow)nipjelllkp qz gpwyd 148,464.0 1 1485
71351540/5 nEpUhjuiwh Jkpwhaljagaipyub Swow)nipjniblkp Q2 ppwd 67,668.0 1 67.7
71351540/6 whkpihjwiwh Jkpwbuljngnpjwh Swownipjoiblikp qz gpwd 14,977.0 1 15.0
71351540/7 nEubpjwjul (Epwhulngnput dwnwnip)ntblikp Q2 npud 288,385.0 1 288.4
71351540/8 | mEpbpywywl JEpwbunnuipjwh Swowyncpyniibp Q2 npud 197,574.0 1 1976
71351540/9 WENEpquywy JEpuhuljngoipjul Swownipjoliikp Qz pund 138,627.0 1 138.6
71351540/10 | mERuGpjwyw (Epubulnqnipyjul dwow)nipjobbbp Q2 gpud 258,243.0 1 258.2
(71351540711 nEpbpguluh Jipwhulngoipjui Swow)nipjnibbbp 9z npund 100,288.0 1 100.3
71351540/12  |whkpupjuljub Jtpwhujnqoipjul bdwnw)nipjnibubp qr ppud 485 ,854.0 1 4859
[71351540/13 | wEpupywiwh (Epwbujogoipjwh dwownipobikp Q2 gpud 222,0260 | 1 222.0
[71351540/14 |mEpupyuwgut (Epwhuljonuipjuh dwownipmblkp Q2 ypud 2154620 | 1 2155
71351540/15  |mEpORqumb Jkpwhujonnipjwl Swnwnipyailibhp 92 gy 336,833.0 | 1 336.8
71351540/16 | wbubpjwyul (Epuhufnnocpjul swnuwjnipjmlikp QG2 npud 324,623.0 1 324.6
71351540/17 | mEpuopgulub (kpwhufngnipjul dw nujnipjolkp Q2 npwd 126,735.0 1 126.7
71351540/18  |wbulpguwt (Epwhulngnipjwh dwowjoip)otubbp Qz gpud 33,911.0 1 33.9
F1351540/19  [whNUpqwhwt (Epwbulnnnipyul Swrwynipjmblkp a2 npund 472,275.0 1 472.3
71351540/20 | wbpuupyjuwlwh (spwbulagoipjul Swow)nipjoihlbp Q2 gpuid 5,765.0 1 5.8
71351540/21  |wkpupquiwh JEpwhulngoipjuh Swnuynipjniblbp Q2 gpund 199,608.0 1 199.6
71351540722 |mbuupgmhwt (cpuholngoipywl Swowjnipnibbbp Q2 gpund 485,981.0 1 486.0
(71351540723 |mbpupjuywt JEpwhuljonoipjub Swmnnipymbibp Q npuyd 22,430 1 224
71351540724  |nbuupgwyut (Epwhulngaipjul Swowjnipjaibbp Y npuy 4 1 E
71351540/25 | wEpupjulub (Epwhulnnoipjub Swownipnilikp qr npud * 1 N
71351540/26 nkubpiuluwh (Epwhuljogoipjub Swowjnipjotiukp Q2 gpud * 1 s
7135154027  |whpupquiwl JEpwhuljannippul Swnuwnipymbbkn Q.2 npud 1 &
[71351540/28  |mbnupquwluh (Epwbulannipjub Swowmpinitbikp qr npud B 1 >
71351540/29  |whpuupjuiwl (Eipwhujoqnipul Swow)nipniblbp QL npwd : 1 =
[71351540/30  |wbmupyulwb (bpwhugnnoipjul bwowjnipoibltp qr npwd % 1 g
71351540/31 | nbpbpgmyw (tpwhuljngoipyub Swow)nipjnibikp q npund * 1 *
[F1351540/32  |mtpupwiwt (Epuhuganaip)wl Sunwjnup)nbibp Qrz npwd . 1 1
71351540/33 | mbpbpwyul (Epuhulnnocp)ul Swownipjmbbkp QL gpunl : i 2
71351540/34 | nbpupjuluh Jipubuljogaipjul Swownipjolibkp qz gpuyd g 1 ’
71351540/35 nEubhljwwh {Epwhuljonoipjub Swnw)nipjmulkp Q2 npud > 1 *
7135154036 | mEpupgwhwt JEpwhufnnoipwl dunwnipymbbin Q2 gpwy f 1 :
71351540/37  |mbpupwhwl (Epwhuljngnipywl Swowjaipyoibbbp G2 npwid Ly 1 *
SBTT1140/T  |BEnpbmyu)pb bujnnnipjul dwownip)nibbkp Ul npud 25,072.0 1 25.1
9811114072 BEqhtwwhl hulonoipjub dwpw)nip)niulkp Ul gpud 46,573.0 1 46.6
[98111140/3 hEnhbwlmht huljonmpul dwowjnipnibbbp Uu gpud 16,917.0 1 16.9
98111140/4 BEnhtwfuw;ht huljoqoipjwl bwowjmpjoibukp Ul npuid 37,442.0 1 374
98111140/5 hEnpbwlw)pl bujanoipjub Swnw)nipniblkp Ul gpwd 49,393.0 1 49.4
[OBI11140/6 BEqptwjuwhb hujanoipwi Swnw)nipjnibbkp Uu gpud 27,725.0 1 27.7
[O8111140/7 BEnphwhu)pl hufagnipjul dwnw)nipjnibbbp Uu ppud 64,560.0 1 64.6
98111140/8 bEnpuwhwhl huljnpoupjui Swnw)nipymbbbp uu pud 10,751.0 1 10.8
9R111140/9  |hbnpbwluw)ht bujnqotpjwh Swowjnpoliibp Ul npud 144,125.0 1 144.1
[G8111140/10 |hhnpbwhw)pb bulnanipjuh Swowjnipeiblkp Ul npud 84,208.0 1 84.2
G8111140/11 | BEgpuwhuwjhl hulonoipjub dwowjnip)n ibkp Ul npuwd 93,446.0 1 93.4
[GBIT1140/12 BEqhtwlw)pb Bulone pjul Swownipjeibbkp Ul gpud 37,116.0 1 37.1
98111140/13 _ |hbnhuwluyhb huljanoipjub Swowjnigoliibp Uu npwd 49,902.0 1 49.9
[08111140/13  |nkqpbwlyupt hunnnipywh dunwjnipjotbblp Uu fpwyd 72,096.0 1 72.1
98111140/15 | henpumfujpl buljopoipjul Swowmpjoibbkp Uu gpud 55,506.0 1 55.5
38T11140/16  |hEnpuwhu)ht bulngnipjul Swow)nipjoilbbp Ul gpud 121,463.0 1 1215
[98111140/17  |BEqpuwhuht hulnqm pjwl dwnwjnipjotbbbp Ul npud 53,865.0 1 53.9
S8111140/18  |hEnpuwluphb buljnqnipjul dSwowjnipniibbp Ul npud 99,717.0 1 99.7
98111140/19  |bEnpuwlu)pb buljogoipjul dwowjnipjn ikp Uu npwd 10,173.0 1 10.2
TET11140/20  |bbghbwhuyht hujnnnipjul Swownipnibbkp Uu gpuyd 141,683 1 141.7
[98111140/21 hEqhbwluyhl bufogoipjwh Sunwjnipjoiibkp Ul ppwy 38,020 ) 38.0
98111140/22  |hEnhowfuyht bujnqoipjuh Swowjnipjoibtp Uu gpwid 97,387 1 97.4
SB111140/23 | hbnpuwmlu)hl bujoqoipjub Swownipniibip Uu gpwd ¥ 1 2
[O8T11140/24 BEnpUwlu)hb huljnpoipjub dwowjnip)nibbkp Uu npud . 1 s
98T11140/25  |Bbrpumyupit bujnnotpjwl sSwowynipachikp uu npwy - 1 S
98111140/26  |hknpuwhu)hl bujnqoipjub Swowjnip)otbbkp Ul npwd ¥ 1 -
98111140727 |BEnpuwlwhl bufnpoupywl dwowjnipjnihbkp uu npud ) 1 i
[98111140/28 | BEnpuwfuyhb hulonoipjwl dwnwjnipjniblkp uu npud ¥ 1 H
'9ETT1140/29  |hEnpuwywhb bujannipjwi dSwowjnipnibbkp Ul gpud i 1 a
98111140/30  |BEphuwluyhl buljagoipjwh Swnwnpjniiukp Uu npuwd 2 1 2
[GBTT1140/31  |hEnphwhuyhb bujanoipjmb dwnuwjnipjoihiip Uu gpwy - 1 s
98111140732 BEnpbwywhh Bulanpipyuh Swowynipjnibubp Uu gpud * 1 %




[G8111140/33 BEqhbwlw)hb buljnynipjut dwnw)nipjolilbkp Ul qpuwd * 1 i
98111140/3% | bknpowqwjhl huljngnipywh dwowjnipjaiibkp Ul npud ¥ 1 ‘
[98111140/35  |bEphbmfuhl hulnnnipjuwl dwowjnipymblbp Uu g . 1 ]
[9B111140/36 |hknpbwljuyhl bujnnmpjul Supwjnipmbikp uu sl - 1 s
OB111140/37  |bEnhumiuhlt huljnqoipjub dwowjmpjeibikp Uu npuy L 1 ¥
[OB111140/38  |hEnpbwhuyhl hufnnnipywh dwowjmpnbbkp [ npud 6,728 1 6.7
98111140/39  |bEnpumfunpl huljogmpjub dwow)nipjnihbkp Ul ppud 97,387 1 97.4
98111140/40  |bbnhbwhuwhh buljnqoipjwl Swow)nipjniibkp Ul ppund 38,020 1 38.0
O8111140/41  |bEnqpbwhuhb hulnnoipjwl sSwownippnihbkp Tu npud 10,173 1 10.2
98111140/42 | hknpuwquyht hulnqoipjwh dwownipoibbkp Uu ppud 141,682 1 141.7
98111140/43  |hknpbwhuhl hufnpoipjul Swowjnipjmulkp uu gpud L 1 *
98111140/44 |bEqpuwquwpl hulnnnipjub dwownipymblbp Uu ppud N 1 .
98111140745  |bEqhuwyw)ht buljngoipjwl dwow)pipyniiibp Ul gpuwd . 1 ¢
G8111140/46  |bknhuwfuyhl huljnnnipjwh dwownipjniblikp Uu npwd s 1 =
08111140/47  |htphumfuyhl hufjoqoipjwhb bwomympynbkp Uu gpwy & 1

[98111140/48  |htnpuwmgwhb bujanotpjul Supw)nip)nibikp Ul npwd . 1 E
[G8111140/49  |bEqpuwhu)hb hufngnipjulb dwownip)nlbutp Ul npund 5 1 -
08111140/50  |bbnpuwlwph bulannipywh dwowympynibikp Ul pwy 2 1

98111140/51 BEnpuwhuyhl hufjngoipyjul dwow)oup)nibbbp uu gpund * 1 X
98111140/52 Binhiwfw)pl hulngnipjub dwow)nipjnthikp Ul npunl ' 1 £
S8I111140/53  |BEqpuwyum)hb hulngaipjwl Swownipynibbkp Ul gpund ; 1 g
GB111140/54 |hEnpbwquw)pl buonnipjuh dwowjnipjniibbp Ul puyd * 1 "
98111140/55  |Bhnpuwyu)hl huljngnipywb bwowjnipyniikp [T gpwyd E 1 .
98111140/56  |bknhuwhuhl Bulnnoipjwh dwnwnipjndibkp Uu pund £ 1 *
[98111140/57  |BEppuwywjhb buljnnnipjwh Swownipinibbkp Ul npuyd 5 1 .
981T1140/58  |bknhuwlw)hl huljnnnipjwi bdwnwjpipjnibbkp Uu ppuwd " 1 B
GBI11140/59  |hEnhbwhwhl bufjnnaupjwh Swow)nipjnbibp Uu ol . 1 *
98111140/60  |hEnhbwluyhl buljnnoipjub Swow)aip)mbibp Uu puyd ‘ 1 2
08111140/61  |bhgphuwhwhb bujnnoipywl dwowjnipynibibkp Uu npud . 1 &
71351540/38  |wbpuupjujuh bulagnipjub dwowympjniibbp QL npud 2 1 s
[71351540/39  |nbuUpquiwl buloqnipjul dwownipocbikp (¥ gpund ¥ 1 :
71351540740 | mEpupywiwh hulngnipjul swowjoip)oibibn q2 gpud - 1 4
71351540/41  |wbpuupjuwlwh bufngopjwh dwnw)nipjniibkp ¥ ppud ¥ 1 '
71351540/42 | nkpuupqwlwh bujnympjul dwrw)nipnibbip qr gpwd = 1 ¥
71351540/43 | wbpupquiwh hufnnopyuh wowjnipniibkp Gz pwd g 1 ‘
71351540/44  |nkubhjwlwl bujonmpjw dwnwnipjnibiibp qQz gpud » 1 b
71351540/45 | wkuupwlimb bulngmpjuh bwownipnihbkp q2 npmd - 1

71351540/46  |nbpupjmiub buljagmpjwh dwowympjnibikp L gpud ' 1 f
71351540/47 | wEubpjwywh bujnnmpjwl Supwjapoilibbp Q2 fpuyd & 1 =
71351540/48  |nbpuiupyuiwh buljaqmpjwh dwownpjniikp qz gpud . 1 v
71351540/49 | mbubpwyut hugnnmpjui swownip)oiibEp Q2 npuyd * 1 J
71351540/50 nEupgmluh hufegoipjwh dwownpjnbibp Q2 gpud 5 1 E
71351540/51  |wkpupiwlwl bulagoipjulb dwowjnipyolbkp QL npuni . 1 *
71351540/52 | mbnuUOpjwlwi hujnmpjub dwowjnipjoibbkp Q2 gpwd N 1 B
71351540/53 | mbpupjuiwh bufogmpyul Swnow)nip)niiblp QL npwd * 1 *
71351540/54 | mbpupjwywh buljnnoipjwl dwowjnipnlilkp Q2 gpuyd il 1 :
71351540/55 | mEpuupjwyub buljonoipjul dwownipnibikp QL gpwd . 1 B
71351540/56 | imbuupjwyub hujonaipjwl Swowjnipyonbbkp Q2 npud N 1 &
71351540/57 | wEpuopjuwlul bulaneipjwi bwnw)nipjnibibp G gpud 2 1 £
71351540/58  |wbpupjuiwhb buljannipjwh bwumunpnibikp QL npuy N 1 3
[71351540/59 | mLpbphwlwl bujnqoipjwh Swowjnipjniubkp QL gpud 3 1 N
71351540/60 |mEubpywywh bujanoipjwh Swowmpnchilp Q2 gk ¥ 1 =
71351540/61  |mEpEpquiwh buljnqnupjwh dwownipatiikp Y3 npund ¥ 1 :









